REIAYYARE, Ra7i—bk

DiITe OB (BEHY) OBHA(HELL) N=%8% ~r=2%4%t ZH=%2%
BEEOBFIHBI=UTH

A XTEA—F HE B BRi5H
BHROAYY20164F B Bk BHEIAYYE VS. BEEOAYYD 2016/03/20 09:20 PG N3
RmIAYYD 1% . AR ) Tl ..
I8 P &% 1 2 3 -4 5 6 7 8 9 W8S &I HRIT = iJUBSEERAS % | A | B
1 (=) 1973 Bz| HR  ARZ10  ;mk @ [EEEd) BI%kO | [RE 4:2:1:0i0:0:0i0;ifT
2 (D)E— 23B% BE| ALE20 | —FE10 =eF it —3 4:2:i2:0i{0i0i0:i0i3
3 (=) IRIE 2% | mEkE1e e rh 22 & il F2® 3i1i2i0:i1i0i1i0i1
4 () 48k & Fhf EAXRO Piigem) R 4:1i1{1i3i0i0i0:{0
5 (%) —f1 /K E | EEZDE10 — R b 3i1i1i0i1i0i0i0if1
6 (8)%x 67RE ZEh|EZDE10 k2@ — 7 3i2i2i0i1i0i0i0ifT
7 ()5 391 EfE| £20 hZ0e ot 3i1i2i0i3i0io0i0io0
8 8)a AMEE H 7R %0 = 3i1i1i0i0i1i0i0i0
9 (f)64% 9LLEA F17] WITHRE10: HEO AR 3i2i1i0i0i0i0:0:°T 3:i0
10 (B)iE#HRE 20/F& EfE =3%%10 R = 3i1:0i{0i0i0:i0:0:°T
11 (E)¥g 5504 EEXR =0 =k Q) a7 1i{0i0i0i2:i0:i0i0:i0
12 (/= 255K B= ERXDE10i=T4%%E10 Pl 3i2i1i0i1i0:i0:i01i2
EH37i16i14i 1 i12i 1 i1 i 011 30
B Bx EiR BF4 2 BkE] BkEk & W #EHR Tk ([5mk| 5%k | B [A—V | X5 [BES AR
) Bk 1MEHEARN ED 3 26 12 1 0 1 0 15 6 0
u i 89FEH X 3 9 1 0 1 0 0 0 0
; thik 6T RiZ KT 1 5 1 0 0 1 1 0 0
n
o2
L3




REIAYYARE, Ra7i—bk

DiITe OB (BEHY) OBHA(HELL) N=%8% ~=2%4%t ZH=%2%

HBFEOBFIHBI=TH

BEROAYV2016EEAKXE 2016/03/20 09:20 EREIAVVE VS, RRIAYYD (KFHEBELAEFHKS)

BROAYVE & HEemE FlE_
FTIIE] FiE &% i 2 3 4 5 6 7 8 0T B R R A e R % AT B
1 (#) NnHLE = 7R &3 =ik P 3:{0i0{0i0i1:i0i0:0
2 (=) 2IE HE| =ik i) e I 3:0i0i0i0:i1:0:0:i0
3 (i) $% 6T iR KT =i o EERE1@ %3 2i1i0i0i0i1i0i1:f
4 8 8OFEM AN #I%x0 @ — Esid & 311,000 0i0:0:0
5 ()7 15NR BBE =3 #2000 FEEK 2i1i1i0i1i0i0i1io 120 1
6 (B ZiE NN ED EROFIZE1 2@ =3 3i0i{2i{0i2:0i0i{0;T1
7 (= 45)II§ % Ik @ PEEEE | R i e 2{1i0i0:0:0i1i0if1
8 (—)3E—18 TTKE ®th =R iﬁfﬂ% ER 2i0i1i0i0i0i0i0i0
9 35)— 5138 E—HD =3 3 2:0i0i0:0:0:0i0i0
10 (B WBEH B =ik —3 2:0:i0i0i0:{1:0:i0:0
11 (8)—a 10HEHF A PO Bk SEEK 0i0i0{i0i0i0i1i1i0
12 (Z)iE BIA(BET) 7o Bk e | 1{0i0i0i0i0i1i0i0
13 BEE B A (FAA) it =3 2:!0i0:0:i0i0i0i0i0
$27:4:4:0:3:4:3i3:3 12§ 1
F& BX iR BFH FEkE] Bk & WRIT #HHR E-R | SmEk| 5%k | R (A0 &5 |[BER P Ek B3R
O S 49K =E 4 21 4 0 3 3 1 2 4 3 0
Q g 20i%8 =& 2 8 0 0 1 0 1 1 0 0
; ik 9lLIE 07 1 4 0 0 0 1 0 0
%
1%
F—L% 1 2 3 4 5 6 7 8 9 10 11 12 g
HEIAYYD 4 6 5 0 0 0 1 16
REIAYYVE 2 2 0 4
AR
aAvk2




